IMMERSION HEATERS 

Data:

Specific heat capacities:   

Water 4200 J/kgoC 
  
Lead 126 J/kgoC
Glass 600 J/kgoC

1. Draw a circuit that you could use to find the power of an electrical immersion heater.

2. How much heat energy is needed to raise the temperature of a 200 g piece of lead by 250 oC?

3. A 150 g potato cools from 100 oC to 50 oC. If the specific heat capacity of potato is 2000 J/kgoC how much heat does the potato loose?

4. How much electrical energy does a 50W immersion heater use in:

(a) 20 s

(b) 3 m

(c) 5 m 

5. Calculate the power of the following heaters:

(a) one that takes a current of 3 A at a voltage of 6 V

(b) one that takes a current of 0.5 A at a voltage of 5 V

(c) one that takes a current of 0.1 A at a voltage of 5 V

6. Calculate the power of the following heaters:

(a) one with a resistance of 2  that takes a current of 3 A 

(b) one with a resistance of 2  running at a voltage of 5 V

7. A metre length of a certain type of wire has a resistance of 0.8 . What is the resistance of:

(a) 25 cm of the wire

(b) 75 cm of the wire

8. Which has the greater resistance, 0.5 m of constantan wire or 0.2 m of constantan wire of the same thickness?

9. A 50 W heater is used to heater 200 g of water in a glass beaker for 5 m. What will be the rise in temperature of the water?

10. What things have you assumed in your answer to number nine?



















